[S31K & HT

X2 Tsil FABBAN)
# s BRA 20,836
ER A& 851
HXZTH 696
AR—TH 3,045
BEEt=EER 816
7K SHET 940
) 902
= AR Al 3,300
A=V TSHH 1,005
IO 653
A ET 1,055
BFE 839
BT Al 7,969
ik S EBFTHI 1,962
EXEREITE 9,688
IR 622
TEEF 258
BEH 160
SN Tk 263
Fihd 399
FERE AR 31
FERE —RMEA 406
F b 75 [ th Fi] 38
76 50 & X AT 1,020

20174 12R

) 3SR BEZEME

100

90

80

70
B0 o
50
40 o,
30
20
10 e

0
68.0

(A) FREH /&

4.0 36
35
3.0
2.5
2.0
15
1.0
0.0
FiRERAT~ R E X
it
o TIREHESE
\

100%

# R BRAT ~ T B0 E KT

-1/1-



